Algebra







NAME____________________________

Solving Systems of Equations by Substitution

The key to substitution is



And your answer will almost always be…
1.

2.
3. 

4. 
Easy substitution:





y = 2, 
-2x + 5y = 4





End-to-End substitution:
y = x – 4, 
y = -3x + 8
Intermediate-level substitution:

-3x + y = 0, 
x + 2y = -21

Advanced substitution:

x + 5y = -3, 

3x – 2y = 8

Odd cases:

A. 3y = -6x + 9              -8x – 4y = -12

What happens if you’ve done the substitution and the answer comes out like –12 = -12?  

That means the system looks like…

And the answer is…

B. 4y - 2x = 16
  y = ½ x – 6

What happens if you’ve done the substitution and the answer comes out like –24 = 16?  

That means the system looks like…

That means the answer is…

